COORDINATE  GEomET 2

q) ¢
&)

tneo A0, 4)

).

2 4 -] =0
X 4*23 TC =0

o+2(4)+¢ =0

¢= -

M x+23—230

.10 11,12

2o —4 -1 =0 @
X +24 =% 0 (3)

ax -29-2 20 (3)

(D2

@4—@ Ss — 10 =0

$5¢ =10

o =2

¢l Br 2 ia (@)
2 +24 - 870
2,3—6 =0

24 =6

q =

Canh m nbesect b

(2,3)

K ’f?j +¢ =0

o €(3,0)

0

MIXEN EXERCE §

S +0 +¢c o

¢ = -3
h :><+23 -3 =0
€ 2% -4 - =
" ~C +23-'5::o
(Ox2 4 —-—23 -2 =0
@»r@ Sx -5 = 0
S =F
~ = |
Cob Hr x @
| 4’23—‘3:0
24 =2 =0
2_0 - 2
'3:1
¢ and n Intergect ot

(1,1)

O

&
®




CORDINATE GEOHME TR

e

9
S0, 0,2 HIXED EXEraCE &

,fz >0 A ‘3 = ¥
AR 3—4*1& at (%8)
Fiad (Joivx*" aqé :rx"“c/ic.c,‘“vv\ b

Su& dor "h A ¢z
e +%%—2. =X
20 4+ S —4 :lé

Ta = 20

20 =4

G4tn=£
J°%

S d(a,4)

Filod area o€ AAcd

Tace HKC a¢ kace
tlen A¢}§L.4' ¢ ¢ —coord ot D

Ad =~ g—-2 =10

N —coord ot D = 4

Cch .
l“ - ’ % L\ /.C’ L\ ‘

—._lle()x4

= 20 Late *

SUL A)I X I (1



COOADIMDATE  GEpr ET251

a,/0, 11,17

®

Mx&Y ExXFRele §

‘3—1 = X 4+_L
¢

CZ 4 = L + 4

\ 3




COODINATE GEFoMNETRM

A 10,10, 12 FIXED EXERCE §

'Z)’ A<—|)'2) @(7)1) C(’()4“)

6\\ '%rh«/()o\ + A @

= 2--2Z -4 L
7 -—) X 2
b) zAce = T0°
L AG ¢ L s RC
S Smdicnlr e = —2
| 4-2 _ -2
b=
2 = —Z(R-v)
2 T —2K +14
2K =14 -2
2k = 12
K = 6

£ _Z “éédnv)l kéa\’(

<)
CY-490F m(x - )

Y -2 = “2(:&—‘?)
L:)...z_ = -2 + ’4—
‘:S - ~-2x +1b

25 -f“l -6 =0

4)
Sinee 2 ABC =907
Vse AL 4l hase and B¢
A Az,,ébz?f s A

/ﬂ@/ :1‘/(—,__1)“(2--2)1

= [ Ga + I6

= J{¥o

IRe] = [(r-e)+f-or
T+%
Is

—
—

AK(& -

:__ZLxJEO XJE‘

2

-
-——

’é” x ,-/‘ZOXS“




